Cross out any rows and columns that represent dominated strategies.

3) b)
ci1|Cc2|C3 ci|cCc2|C3
R2 -1 |2 1 R2 |6 5 4
c) d)
Cl1|C2 ¢C3 Cl|C2|C3 C4 | C5
R1 |4 -1 |0 R1 8 4 4 7 2
R2 |-1 |4 2 R2 2 9 5 0 7
€) f)
Cl|C2 Cl|C2
R1 |-1 |3 Rl |-1 (4
R2 |2 -1 R2 |3 -2
R3 |7 -10 R3 |2 -1
R4 |1 -3
R |-1 |1
ANSWERS:

a) R1 and R2 should be crossed out. C1 should be crossed out.

b) R3 should be crossed out.

c) There are no dominated strategies.
d) C1 and C2 should be crossed out.
e) There are no dominated strategies.
f) R4 and R5 can be crossed out.




